

DATE: 02-04-2020

NAME: DEINGHAN JESSICA

COURSE: MATHS 104

DEPARTMENT: M.B.B.S

MATRIC NO.: 19/MHS01/136

QUESTION

For the curves in problem 1 to 5 at the points given find (a) the equation of the tangent, and (b) the equation of the normal.

1. $y = 3x^2$ at the point $[1, 2]$

Solution

$$\frac{dy}{dx} = 4x$$

$$m = \frac{dy}{dx} \Big|_{x=1} = 4(1) = 4$$

Equation of the tangent

$$y - y_1 = m(x - x_1)$$

$$y - (-2) = 4(x - 1)$$

$$y - 2 = 4x - 4$$

$$y - 2 - 4x + 4 = 0$$

$$y - 4x + 2 = 0$$

$$y = 4x - 2$$

Normally for the Equation

$$m = -\frac{1}{4} = -\frac{1}{4}$$

$$y - y_1 = \frac{1}{m}(x - x_1)$$

$$y - 2 = \frac{1}{4}(x - 1)$$

$$4y - 8 = -x + 1$$

$$4y - 8 + x - 1 = 0$$

$$4y + x - 9 = 0$$

2. $y = 3x^2 - 2x$ at the point $[3, 8]$

$$\frac{dy}{dx} = 6x - 2$$

$$m = \left. \frac{dy}{dx} \right|_{x=2} = 6(2) - 2 = 10$$

Equation of the tangent

$$y - y_1 = m(x - x_1)$$

$$y - 8 = 10(x - 2)$$

$$y - 8 = 10x - 20$$

$$y - 10x + 20 - 8 = 0$$

$$y = 10x - 12$$

For Normal Equation

$$m = -\frac{1}{10} = -\frac{1}{10}$$

$$y - y_1 = m(x - x_1)$$

$$y - 8 = -\frac{1}{10}(x - 2)$$

$$10y - 80 = -x + 2$$

$$10y = -x + 2 + 80$$

$$10y + x - 82 = 0$$

3 $y = \frac{x^3}{2}$ at the point $(-1, -\frac{1}{2})$

Solution

$$y = \frac{1}{2}x^3$$

$$\frac{dy}{dx} = \frac{3}{2}x^2$$

$$m = \left. \frac{dy}{dx} \right|_{x=-1} = \frac{3}{2}(-1)^2 = \frac{3}{2}$$

Equation of Tangent

$$y - y_1 = m(x - x_1)$$

$$y - (-\frac{1}{2}) = \frac{3}{2}(x - (-1))$$

$$y + \frac{1}{2} = \frac{3}{2}x + \frac{3}{2}$$

$$y - \frac{3}{2}x - \frac{3}{2} + \frac{1}{2} = 0$$

$$y - 3x - \frac{5}{2} = 0$$

$$y = 3x + \frac{5}{2}$$

For Normal Equation

$$m = -\frac{1}{3} = -\frac{1}{3}$$

$$y - y_1 = -\frac{1}{m}(x - x_1)$$

$$y + \frac{1}{2} = -\frac{1}{3}(x + 1)$$

$$3y + \frac{3}{2} = -x - 1$$

$$3y + \frac{3}{2} + x + 1 = 0$$

$$3y + x + \frac{5}{2} = 0$$

4. $y = 1 + x - x^2$ at the point $[-2, -5]$

Solution

$$\frac{dy}{dx} = 1 - 2x$$

$$m = \frac{dy}{dx} = 1 - 2(-2) = 1 - 4 = -3$$

Equation of Tangent

$$y - y_1 = m(x - x_1)$$

$$y + 5 = -3(x + 2)$$

$$y + 5 = -3x - 6$$

$$y + 5 + 3x + 6 = 0$$

$$y + 3x + 11 = 0$$

$$y = -3x - 11$$

For Normal Equation

$$m = -\frac{1}{4} = -\frac{1}{4}$$

$$y - y_1 = -\frac{1}{m}(x - x_1)$$

$$y + 5 = +\frac{1}{3}(x + 2)$$

$$3y + 15 = x + 2$$

$$3y + 15 - 2 - 2x = 0$$

$$3y + 13 - 2x = 0$$

5. $y = 1/x$ at the point $\{3, 1/3\}$

Solution

$$y = 1x^{-1}; x^{-1}$$

$$\frac{dy}{dx} = -1x^{-2}$$

$$M = \frac{dy}{dx} = -1(3)^{-2} = -1/9$$

Equation of the Tangent

$$y - y_1 = m(x - x_1)$$

$$y - 1/3 = -1/9(x - 3)$$

$$y - 1/3 = -1/9x + 1/3$$

$$y + 1/9x - 1/3 - 1/3 = 0$$

$$y + 1/9x - 2/3 = 0$$

$$y = -1/9x + 2/3$$

For Normal Equation

$$M = -1/9 - 1/9 = 9/1$$

$$y - y_1 = 9/1(x - x_1)$$

$$y - 1/3 = 9/1(x - 3)$$

$$y - 1/3 = 9x - 27$$

$$y - 9x - 1/2 + 27 = 0$$

$$y = 9x - 53/2 = 0$$